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Lattice 3 by 2

Use lattice multiplication to solve each problem.
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Lattice 3 by 2 Name: Answer Key
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
678 x 33 = 194 x 67 = 457 x 45 = L 22 374
6 7 8 1 9 4 4 5 7
1.7 2/,’ 2/,’ 3 0 .- 5// 2// 5 1.7 2/,’ 2// all2 12,998
2.7 8(,7 1|.,” 4 11.” 6|.7 4|, 4 2.7 6,7 0,7 8
/// 1 // 2 // 2 // /// O // 6 // 2 // /// 2 // 2 // 3 //
21,78l 1], a3 21,7173, 8" ol.”0|.”"s|,75]° || 20,565
// 3 // 7 // 4 // 9 // 9 // // 5 // 6 // 5
Vi / 7 4 4 7 / 7 7 4 27,666
5, 30,441
4) 954 x 29 = 5 417 x 73 = 6) 236 x 89 =
6. 21.004
9 5 4 4 1 7 2 3 6
l,’l,’O,’ 2//0//4// 1//2//4//
2|, 8l,” 0|, 8|? 3|, 8|, 7], 9|’ 2|6l al, 8|87 20,484
/’/ 8 /// 4 /// 3 /// 9 /// 1 /// 0 /// 2/// 3 /// 1 /// 2 /// 5 /// 9
71.11.."5],” 6 ol.” 2|.7"3|,”1 11.78|.7"7|,” 4 s. 13,029
/// 6 /// 6/// 6 /// 4 /// 4/// 1 /// 0 /// O/// 4
9 42,001
10, 14,186
7 569 x 36 = 8) 303 x43= 9) 433 x 97 =
5 6 9 3 0 3 4 3 3 11. 27,840
1/1/2/3 1/0/1/4 3,’2,’2/9
2.7 5 7 8 e 7 11,7 2 e 0 7 2 41,7 6 7 7 7 7 12. 17,427
REA 5 ,lo,7[o .7lo s 2 2,02 02 s .
0.~ 0|.”6]|,” 4 3(.79(.701(,7 9 21.78|.71],7 1
/// 4 /// 8/// 4 /// O /// 2/// 9 /// 0 /// O/// l
10) 173 x 82 = 11) 435 x 64 = 12) 471 x 37 =
1 7 3 4 3 5 4 7 1
0,5,’2,’8 2/1/3/6 1,’2,’0,’3
l // 8 // 6 // 4 2 // 4 // 8 // 0 l // 2 // 1 // 3
/// 0 /// 1 /// O/// 2 /// 1 /// 1 /// 2/// 4 /// 2 /// 4 /// 0/// 7
41,7 21,7 4|,7 6 71.76.72|,70 71.78.79|,7 7
/// 1 /// 8/// 6 /// 8 /// 4/// O /// 4 /// 2/// 7
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